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PART ONE : Reading (14 pts )
READ THE TEXT CAREFULLY THEN DO THE FOLLOWING ACTIVITIES.

The first thing that strikes me about education is knowledge gain. Education gives us knowledge of
the world around us. It develops in us a perspective of looking at life and helps us build opinions and
have points of view on things n life. it is not just about lessons in textbooks. It s about the lessons of
life.

Education is important, especially at early ages because it teaches us the right behaviours and the
good manners.t is instrumental in the development of our values and virtues, It cultivates us into
mature individuals, capable of planning for our future and taking the decisions in life. It equips us
with all what is needed to have brillant opportunities in career and growth. It can lead us to
enlightenment. Every employer today requires his prospective employees to be well-educated . this

is an eligibility criterion for employment in any sector of the industry. We are weighed in
the market on the basis of our educational skills and how well we can apply them.

For the progress of a nation, it is an enriching factor. A country’s literate population is its asset. Its
future is safe in the hands of its educated individuals.The number of state institutes offering
vocational courses and colleges offering online education are increasing day by day to enable the
working class for example to pursue education even while working .Distant education has proven to
be of help for those who are unable to attend classes.

Education starts in schools, colleges and other educationnal institutes. But it does not end here. It
is a ifelong process. Self-learning begins at a point where institutional education ends. The process of
self-learning continues.

A) COMPREHENSION : (07pts)
B)
1- Write the letter tothe
« A.Education s the process of :
a. Gaining information about the surrounding world.
b. learning lessons in textbooks .
¢. developing teaching techniques.
o B. Being well-educated is an important :
a. employers’ skill b. Job requirement.
o C. Acountry’s literate people contribute toits:
a. Underdevelopment and decline.. b instability and insecurity . c. growth and prosperity.
2. Read the text and put the following sentences in the order they appear in the text.
a. Leaming opportunities provided by educational institutes to workers.
b Education enables us to develop principles and-values:
¢. Thanks to education, we can have a clear picture of everything around us.
) R

3 to the text.

C. Indusrial support .
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workers?
4- Give atitle to the text.

5- Who o' what do the underlined words refer to in the text?

a. It (§1) b. This requirement (52)

by Lk

B):Text Exploration : ( 7pts )

1- Find in the text words whose definitions follow.

a. Asum of information acquired during the learning process (§1)

b. A person able to read and to write (§3)

2- Divide the following words into roots and affixes. Do as shown in the example.

knowledge - enriching.
[ word [ Prefix [ Root [ Suffix |
[o | Develop [ Ment |

3- A.Give the correct form of the verbs in brackets.

Developing the skils of reading and writing is required  in our everyday life. If we are well-
educated, we ( to have) a solid basis for success in our career. Unless societies ( give) priority to
compulsory education since childhood, the rate of ignorance and iliteracy ( to be) very high. It’s high
time governments ( to |mpmve) educational systems to enable the students to fulfill their roles
outside school.

3-B.askthe questions which the underlined words answer .

a. Education broadens our mind.

b. Children start developing basic skills at school.

4 Classify the following words according to the number of their syllables.

[ Three syllables

Helps - lessons - requirement - vocational
One syllable
= | [ | J

[ Two syllables [ Four syllables |
5. Imagine what( A )says and complete the following dialogue.
n

B: | have learnt to read and write in an adult literacy class.

A

B: Yes, itis very interesting .Now, | feel that my self-confidence has grown.
A

B: | feel very different. | am able to help my children with their home works and revisions.
A :

B: why not? It will be an opportunity to change my life by becoming a literate person.

PART Two : written expression : / (06pts) - choose ONE of the following topics :

Topic ONE: Using the notes below, Write a composition of about 10 lines on the following topic
*Most educators give importance to exams in the process of learning*.
- Evaluation / assessment.
-Developing a sense of individual responsibility.
~Forming the mind of reasoning.
-Re-investing thematic and language elements acquired through learning.

Topic two : What is ethics ? Is it important in business ?

Give some examples of ethicalissues.
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